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(@) What is meant by cost a_ccouhting

(2
Se'ctien A
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? Explain the objeetives of Cost Accounting, . 6

(5) The followmg annual charges are incurred in respect of a maehme In a shop where work

is done by means of five machmes of exactly similar type and spec:f' 1cation :
NOR

@

(3)

@

5y

. ©

Rent and rates (proportional to the floor space occupied).

for the shop

- Depreciation on each machine

'Repairs and Maintenance for five machines

Power consumed (as per metef)

@.' Rs. 5 per unit for ihe-shdp

_ Electric charges for lighting in the shop

Attendants :

There are two attendants for five machines and they are

~ each paid Rs. 6,000 per month.

Rs.

4,80,000

50,000

1,00,000

" 3,00,000

- 54,000
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(7) ‘ - Superviston

For ﬁvg machines in the Shop fﬁére is ohe supervisor

.wh-ols'e emoluments are Rs. 25,(500 pm
) | Sundry supplies such as lub_ri?:ants_} cotton

_wast'e_. etc. for the shop . 45,000 |
(9) Hire-purchase ins_iélm'e:nt payal'ale for the machine -

(inc;,luding Rs. 3,000 as interest) - 1,20,000

- The machine- uses. 10 units of ﬁoﬁwer_p_er ‘h.o'ur.
balculate the machine hour rzﬁe
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(x) Disﬁn_guish between variable cost and semi-variable cost. - 6

() - The followmg figures relate to the costmg of electnc machmes of one umform size and

quahty for a period of three months _ o ' 9
Completed Stock on 1st October, 2012 | Nil
. Cémpietegi St.ock. on 31st f)ecember, 20-12 ) 20,250
Stock of Raw Materials, Ist October, 2012 ° " 5,000..
‘ .Stock of Raw 'Ma.teria‘lls, 31st December, 20i2 3,500 '
- Factory W'flges' _ 75,000 |
| Iridi”rec.t CHargf;s' 'I _. | g ' '- 12,500
Materials Purchased _ 132,500
Sales - - '_ 1,12,500

The nurnber of electric machines mantfactured during the thrée months was 3,000.

' _Prepare a statement showing the cost per electric machine and the pnce 0 be quoted
for 750 electrlc machmes to realize the.same percentage of proht as was realized during

the three months referred to above, assuming gdentlcal- cos_ts,'_-

P.T.O.
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2. - (a). What 'is'meaht by-ABC analysis ? State its advantages. - 6
(b) From the following 'inforrnatién, éalqulale re-o_rder quantity : - 9
. Average consumption ;. 50 units per week

Minimum re-order period : 4 weeks
Maximum consumption : 75 units per week
. Ayerage re-order period  : 5 weeks
S ’ . N .

| Avérage stock-level 375 nits
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Or
(o
x A Transport Serjvice'(jomp'any 1s ;'unnjng 4 buses bet\.veen t-wo' towns which are 50
kilgm‘etre's“ apan. Se.ating capacitx of gac-h bus is 40 pa's.sengf:rs. The fblllowing .particularé

* were obtained from its books for April, 2013 :

Rs.
‘.W.ages of drivers and conductors . .2,400
Salaries o-f office staff _ 1,600 : ; |
| liep_éirs énd Maintenance . 800
| Diesel and O'il .. 4,006
Taxation, Insurance etc. 1 600 _
Interest and other charges 2,000
Deéreciaﬁon ' ' 2,660

. Actual passengers carried were 75% of the seating capacity. All the four buses ran o1
30 &ays, of the month. Each bus made one round trip per day. Fi'nd out the co.st'peﬁ

passengef kilometer. S . 6
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| §%) Durmg Ihe_month of Jan. 2013 the following receipts and issues of materials were made.

Record these transactions in _ih‘e stores ledger using (ij LIFO method aﬁd (if) Weighted

average method. '9 '
Receipts :
Jan. 1 : 50 units @ Rs. 4 _;_)e';" unit

Jan. 5 _:' | 40 units @ Rs. .3-p:ext' uinit

Jan. 8 _:l 30 units"@ Rs. 4 per lur.m |

Jan. 15 : 20 units @ Rs. 5 per unit |

Jan. 25 : 40 units @ Rs. 3 per unit

Issues :
Jan. 10 : 70 units
Jan. 12 ;10 units

Jan. 20 : 20 units
Jan. 24 : 10 units
" On Jan. 27, there was a shortage of 5 units.

P.T.O. |
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(@)

(5)

the absorptlon of factory overheads

Calculate machme hour rate from the following detalls given by ABC Ltd for its productton

_ department :
. Cost of Machinery

-. Installation Charges

Life oi_" Machine

Working Hours per year

R.ep_air C'.harges
E_l_ectric Power consumed
' Lubricating O
Consumable Stores

Wageé of machine Operator

( 11 )
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Rs. 4,50.000-

Rs. 50,000

5 years

2500

75% of Depreciation

10.Units per hr. @ Rs. 3 per unit
Rs. 40 per day of 8 hours .
Rs. 80 per day ofl8 hours

Rs. 200 per day of 8 hours '

471

' What do you mean by absorptlon of overhcads ? Discuss briefly different methods for

"

9

P.T.O.
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(3rgram)

(x) D_eﬁne Budgetary Control. What are its objectives ? .~ | . ' 6
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() From the following figures, prepare a reconciliation statement and determine financial profit

or loss : ‘ _ 9
Rs.

| Net_ _p_roﬁt as per ,Cost,i-ng 'records 66,760
: .Fa(;tory overheads under recovere(lzl‘.‘in cosling ‘5,700

A_dminist_ratic;r; overheads recoven.'cd.in excess | 4.,250 )
Depreciation charged in financial books 3,660
Depreciation recovered in cos;t bpoks . 3,950
rh‘ﬁerest received but not includéd in cdsting 450

. . : N :

]ncéme tax provided in financial books . 600
.Ba-nk interest c1:edite_d in financial books o 230
Stores adjustment (credited in financial books) ' 420

" Depreciation of stock charged in financial accounts 860 .
, biv.idend appropriated in financial accounts | 1,200
Loss due to theft provided ;:miy in financial books ° " 260

P.T.O.
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4. (a) Distihguiéh between job costing and contract costing. -

15

_4711'

(/) The monthly budgéis- for factory overheads for two. levels of activify ‘were as

¢

?

_ fdlllolws :
- Bqtigeted Production - 60% '_ lbO%
(Units) 600 1,:000.. '.
'. (Rs.) | -(_Rs.j
Wages 1200 2,000
) Con.suma_ble_stores 9OQ I’.506 ‘
Maintenance ~ ;';106 .1 1,500 .
_Pow;:r' a_nd' Fuel ' | 1,600 2,000
Depreciation " 4,600’ . 14,000
Insurance 1,000. 1,006
9.800 12,000

'Total :

~ Prepare a budget for 80% capacity.

. P.T.O.
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A product passes through three processes' I, 11 and I1]. Norma] w;aslagé in each process
is as follows : . : ]5‘
Process 1 : 3%

'Process 11 : 5%

* Process m . gy
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. Wastage of process 1 is sold at Re. 0.25 per unit, that of process I is SGlc'l‘.at.

Re. 0.50 per unit and that of process III at Re. 1 per unit. 10,000 uhits were

: ihtr_odﬁced into process I at a cost of Re. 1 per unit. The other e'xi)enses were as

fbl-lows D !

Particulars — o ?rocess L Proces§ In Pfocgss mr
, Suqd;y Materials (Rs) 11,000 1500 50’0_'
" Direct Wages (Rs.) - 5,000 8,000 B _:"6,509_"
"Dire_c_t léxpenses (Rs.) | . | 1050 1,188 - | 2,009
. -Ac@a Othr;ut (Ur;its) | ,_9,5_00. '_9,1(_)0 - 8,100

Prepare three process accounts, normal wastage account, abnormal wastage account and

'abﬁ_ormal effectives/gain accoi_mt;

@W L ISR 0 e @ T ¥ e whE § W e
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(@) Define labour turnover. What are its causes ? o | 2+4
The sales of ABC Ltd. in the first half of 2012 amoun.ted; to Rs. 2,70,000 and profit

(D)

earned was Rs. 7,200. The sale in the second half of 2012 amounted to Rs. 3,42,000

-and the profit earned was Rs. 20,700 for that half year. | 9

Assuming no change in fixed costs, calculate :

{i)  the amount of profit when sales are Rs. 2,16,000

(i). the dmount of sales required to earn a profit of Rs. 36,000. |
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Or
Manufacture of Product *M" takes 20 hours on machine No. 105. It has a selling prlce '
of Rs. 150 and a margmal cost of Rs 110. Component Part. ‘N’ could be made on
machine No. 105 in 4 hours. The marginal cost of component ‘N’ is Rs. 9 of which’
outside supplier s price is Rs. 15. Should the firm make or buy component ‘N ? DISCUSS
the answer in both situations when : : _ 6
() Machine 105 is working at full capacity.
(ii)' There is idle capacity.’. '
The sales and profit for two years are as below : 9
_ Sales (Rs.) © "Profit (Rs.)
2012 . - 150000 . 20,000
2013 1,70,000 125,000
© Calculate: ‘ '

). P/V ratio

). BEP

~(iin) Sales required to earn a profit of Rs. 40, 000

(iv) Margin of safety at a profit of Rs. 1,25.000

(v) Profit when sales are Rs. 1.80,000.
| ' P.T.O.
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fat (%) e (B
2012 150000  © 20.000
. 2013 170,000 25.000
0 P/V ST
(ii) - BEP.
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